SINGAPORE CHINESE GIRLS’ SCHOOL (F’RIMARY)
PRIMARY 2 MATHEMATICS
TOPICAL TEST 4 - LENGTH AND MASS ( ukiT €~ CI)

Answer Key

Jack had 9 paﬁcels. After using 3m of string to tie each of the
parcels, he had 25m of string left. What was the length of the
string at first?
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?
9x3=27
27 - 25
< - >
27 +25 =52
The length of string was 52 m at first.

A running track was 500m long. Amy ran for 190m and jogged for
135m. Then she continued to walk to complete the rest of the
running track. How far did Amy walk to complete the running
track?

190 135 ?
° 500 "
190 + 135=325 or 500 - 190 =310
500 - 325=175 310 - 135=175
Amy walked 175 m to complete the running track.




10. The total mass 61‘ a dictionary and a story book’is 788g. The
dictionary has a mass of 540g. How much heavier than the story
book is the dictionary?

dictonary
- 540 {1788
? o ™.
storybook !
788 — 540 = 248
540 — 248 = 292
The dictionary is __ 292 g heavier than the story book.

11. David has a mass of 56 kg. He is 9 kg lighter than Max.
Max is 17 kg heavier than Sam.

(a) How heavy is Sam?

MAX 56 9
SAM ? 17
56 +9 =65
65— 17=48
Sam is 48 kg.

(b) Find the total mass of the three pupils.

56 65 48
5 :

Y

F

56 +65+48 = 169

The total mass of the three pupils is 169 Kg.

(o




SINGAPORE CHINESE GIRLS’ SCHOOL (PRIMARY)
PRIMARY 2 MATHEMATICS
TOPICALTEST 5 -
UNIT 11 : MONEY

Name: ( ) Marks: A
Class: Primary2SY/C/G/SE/P/GR

Date: Parent’s Signature:

Section A { 8 x 1 mark)

For each question, write your answer in the space proifided.

1. $4.10is the same as ¢.

2. __Thirty dollars and eight cents written in number is $

3. $302+§ = $500

4. Circle the biggest amount of money below.

$79.56 , $76.95 , $7965 , $76.99




Rita receives ._ twenty-cent coins in exchange with a
five-doltar note.

‘How much money is in the box below?

Answer: $

- How many pens can Paul buy with $28?

Answer: pens

Mina has $23. She wants fo buy a dress which costs $60.
How much more money does she need?

Answer: $




Section B {12 marks)

Question 9 carries 2 marks, questions 10 and 11 carry 3 marks each and
question 12 carries 4 marks. All workings must be clearly shown.

9.  After spending $366 on food and $180 on transport, Linda had $299 feft.
How much money did Linda have at first?

Lindahad $ at first.

10.  Alice had $230. She had $36 more than Benny.
How much money did Alice and Benny have altogether?

Alice and Benny had § altogether.




11.

Mangoes are sold at 3 for $5.
How many mangoes can Tina buy with 3 ten-dollar notes?

Tina bought mangoes.

12.

Doris bought 3 mugs and 7 bowis.

bowl
$3

(a) How much did Doris spend in alj?

Doris spent $ in all.

(b} Doris paid the cashier a fifty dollar note.
How much change did she receive?

She received $ change.
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Section A
Q1) 410¢
Q2) $30.08
Q3) $198
Q4) $79.65
Q5) 25
Q6) $2.17
Q7) 7

Q8) $37
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